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Question 1:  E.

Question 2:  D.

Question 3:  C.

Question 4:    a) Player 1: Down, Player 2: No dominant strategy

b) (Down, Right).  Player 2 knows that Player 1 is rational (i.e., Player 2 knows that Player 1 takes her dominant strategy).

Question 5:  Since the demand curve is rewritten as P = 100 − Q, the marginal revenue is MR = 100 − 2Q which has the same y-intercept of the demand curve and the slope twice as steeper as that of the demand curve.  In order to maximize profit, the monopolist chooses quantity level where MR = MC (and MC intersects MR from below), so from 100 − 2Q = 10, the equilibrium output level is Q = 45.  Since the monopolist can set the price, the equilibrium price is P = 100 − 45 = 55.  The profits of the monopolist are 55·45 − (800+10·45) = 1225.  The consumer surplus is (1/2)·(100−55)·45 = 1012.5.  The producer surplus is (55−10)·45 = 2025.  Note that the output level which maximizes the total surplus is given by D = MC, so it follows from 100 − Q = 10 that Q = 90.  The dead weight loss is (1/2)·(55−10)·(90−45) = 1012.5.
